(e) ()

(3) What are the levels of consumption (C) and money
demand (M?) corresponding to equlibrium level

of income?
SUHIT I (C) T HAT H WA M) & dge
w’ @ i w51 4+6

Explain how output and employment are
determined within the classical macroeconomic
model. Also discuss the impact of an increase in
women participation in workforce on real wages,
output and employment.

=TT X [ BY FAaHd U SNt wise
& qifg SO ¥ IeR fFuiRa 8 ¥ g @
AT &t AR, SWRA 9 qafad q9gd W
wigersit @ wrdvfRT § nfia 8 @t s § 3fE
H FT T9E B

(ii) Suppose, we have an economy described by the
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following equations:
Consumption Expenditure, C = 50+—§~'~YD

Investment Expenditure, I = 70

Government Expenditure, G = 200

Transfer Payments, TR = 100

Tax rate, t = 0.20

Where YD is disposable income.

Calculate the equilibrium level of income and the
budget surplus.

e fifTg @ BAR U us srefemaeer ¥ R
Frfoftan wfieon o gafar mr &
ﬁvﬁwﬁnc:sm%m

it fasr 1= 70

N @S G = 200

BT YA TR = 100

F =020

W& YD WA ama

I BT F AT & FE T BN S BN 5+5
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feuoft : 3 gyT-9F F7 ST FAA ar BT FET TH YT
7 ford; dfeT T4t SRt Fr aregg o & g
T |

All questions are to be attempted.
Part (a) of each question is compulsory.

Tt g9t & G Ao
G&E G977 FT YT (a) SHaT 21

1. Part (a) is compulsory. Do any two out of parts (b), (c) and (d).
ﬂm(a)aaﬁwf%l wr(b) (c)a(d)ﬁ%aﬁs‘z‘fﬁe
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(a) Differentiate between intermediate and final goods. | (d) (i) Explain with the help of an IS-LM diagram, the
Under which category are ‘Capital Goods’ included? | impact of an increase in the supply of money on
qeEdr q Sfn a@aﬁ & 99 FAT FL| “m - ; the level of income and interest rate. ;
TS @ e At & i far o 5 ¢ | A TR T A WG F g F v
IS-LM fo=a &1 @ergar | < & |

(ii) Assume the following IS-LM model:
Goods Market:

(b) Why are goods and services included in GDP at their
market values? Are there any disadvantages in using
market values to measure production? Discuss briefly.

IEg @ YA H I AR G W b T I Cotisubbpion () % 100+%YD
(GDP) § &1 qnforer feram Strar &7 Saarg &t wiow § | Investment (I) = 300-40i
IR I F ST O A et ¥ dral ( Government purchases (G) = 120
=¥ g A ] Taxes (TA) = 1/4Y :
e H| Net Exports (NX) = (-20)
(c) (i) Define ‘Private Savings’. How are they used in the where YD is disposable income
economy? Money Market:
“Frlt el @ o &) § orefermen § st . S e
FE 3 Mpney demnd (M") = 1/4Y-100i
i STETT AT S o ; fr=fafaa 1S-LM dfsar &t wifao:
(i1) In an economy, ‘Private Savings’ is 1065, « ‘ i
Investment = 1346 and the Current Account sl
Balance is negative (-220). How much is st 39T (O) = 100+5-YD
Government saving in this economy? ‘5
udh Sreferaean F fof qwd 1065 €, FrAw = 1346 Ft et (1) = 300-40i
T 9T @7 99 FOTEE (—220) ¥ | 7@ srefeaw WL @ (G) = 120
4 W §9q fhat g2 342 , @ (TA) = 1/4Y
(d) (i) What are ‘Official Reserve Transactions’ in the } . ﬂ% o 3D
‘Balance of Payments’ of a country? { | ( el YD Wdig 3
UF 2 & PaE 99§ “HAifeiaa fRad a3 & 9K
T ¥2 : arEfa® g1 gfed (M/P) = 250

qET 7 (M) = 1/4Y-100i
(1) Derive the equations of the IS and LM curves.

(i1) A firm makes and sells jam using fruit it buys from
another firm for Rs. 80,000. It pays its workers Rs.

50.000; pays Rs. 20,000 in taxes and has profits of ‘ IS-LM Th & gefiaor T Gl

Rs. 40;000- Whﬁ“ is its value adfled’.’ f | - (2) Determine the equilibrium levels of income (Y),
UF FH gHT G H 80,000 To & UL T Fell interest rate i.

SN FF S H SEEN 9 q9dl &1 98 S Y 3R i & Hgew & & Faia w1
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(ii) In the Classical model an increase in money supply
leads to an increase in real output and price level.

Tt Wiea #, gz ofd # gfe & arafaw
| S9IE 9 FMg 'R gfE e Bl 5

(b) (i) Illustrate, graphically, the determination of interest
rate in the classical system. Explain what happens
when there is a drop in autonomous investment
demand. Does it reduce the overall demand in the
economy?

e SereteT € aeihde goTen ® & & i
& FHHATIT | AT B F4T B AfE wafera e
T 92 A B | T qE e § HW AT B
IR 87

(ii) For a simple model of the expenditure sector with
Government and income taxes, derive the
expenditure multiplier and explain how it changes
as the marginal propensity to save increases.

mmaw%mmaﬁ%ww

%%%&ﬁmaﬁ@mﬁmgﬁaﬁ%l
5+5

(c) (i) What are’ ‘automatic stabilizers’? Give example.

“gitdrifes RfYad’ Fr &2 Faw g

(ii) In a simple expenditure model, if total autonomous
spending, A is 800, the marginal propensity to save
is 0.2 and the marginal tax rate 7 is 0.25, what is the
equilibrium level of income?
T WIERY 49 Hisw #, A Fu w@Efed @ A
800 %, W~ S9a wafsd 0.2 8, T W aR W
0.25 ¥, &1 T FHT HIEA WX HT R

(iii) Define IS curve. How would you describe points
above and below the IS curve?

Isa%aﬁqﬁuﬁa#usam@rwaﬁ%%
fargeit &t oy TR AR HAN? 34344
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ot
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FHEA Ft 50,000 o [T &, 20,000 Fo HT Il
£ @ 40,000 o & AN FAC & | TqH T4 IS
T 8?

“ (iii) A factory owner purchased 5 new machines at Rs.
30,000 each. He sold his old ones for Rs. 60,000.
What is the net impact of these transactions on
GDP?

% Bt B qiferd A 30,000 Fo Ui @ HAT W
5 7% 79 @fE | SER et g A9 60,000
To & 99 & | 3 d-eAl B GDP W Y&
g F BA? 3+1+1

2. Part (a) is compulsory. Do any three out of part (b), (c), (d)
and (e).
T (a) SAFETE & 1| 917 (b), (c), (@) T () F & HIE A & |
(a) (i) What is meant by ‘debt monetization’?
‘o YRR’ ST FT A &7
(ii) What is the effect of an increase in expected inflation
on demand for real money balances?

arefass g1 99 & fow it woenf whifa §
g &1 FT IHE §?
2+2

(b) (i) Use the market for Central Bank Money to graphically
illustrate and briefly explain the effects of an Open
Market sale of bonds by the Central Bank on the
equilibrium interest rate.

e AW W W d=ud 9% a0 Gd e F
qivel #r fas &y # G e Fife 9
fosra werewwr & o0 #T §% 45T & 9 &
IUEIT B |

© (ii; Define transactions velocity of money. Also,
ceiculate- it if the current value of transactions in a

8735 3 Turn Over



(¢) (1)
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year is Rs. 1500 crores and the money stock is Rs.
75 crores.

HET ST A FT aitwfe #¥ ) e womr @ ¢

H, i U ad § A3 B A T 1500 FAL
Y 9 451 ©iF 75 FIS w9 B 443
Assume, all money is held in the form of currency,
and that Central Bank Money is initially Rs. 200
crores. If it pursues an expansionary Open Market
Operation worth Rs. 10 crores, what will be its (
impact on its balance sheet and the money demand
and the money supply curve?

A i, @ aft gmr el & w9 § g e
¥ &g 9% AT 200 FT T ¥ AR @@ 10
®IZ W8 & [ B g go aR wheand
ST A 3T Ja Sfie, grra%wmaﬂ'(gm
@l qfel T T THE g2

(i) Discuss the Cambridge version of the Quannty

(d) (1)

Theory of Money’. When is it equwalent to the
Fisher’s version?

“qe1 & aRET faia” & dftas wv @ 9=t w5t
% IR ®7 & GHE F9 oar &7 443

Assume that all individuals do not hold currency
and that the reserve ratio (R/D) is 0.25. Also, assume
that the monetary base equals Rs. 300 crore.
Calculate the amount of:

A WY 6 @fr o o el T8 @y g
e srgue (R/D) 0.25 %1 77 off wifvm Y A
HTUR 300 HAS SUAT & §UaT & | Fr=ifafa &
T F AT FHi

(1) reserves

g
(2) checkable deposits

YA STE

(3) the money supply
a1 B gl

(d) the money multiplier.
Hal 9T |
(ii) Briefly explain, what happens to the money
multiplier when there is an increase in the proportion
of money people want to hold in currency.

aguE A gfg F @ qF T W T gHE
TS | 443

(e) Derive an algebraic expression for the demand for

Central Bank Money in terms of the parameters C (ratio
of currency to money demand) and @ (reserve deposu
ratio). Graphically illustrate the equilibrium in the
market for Central Bank Money. How would the
equilibrium interest rate change if the demand for
Central Bank Money increases?

S 9 TET A A B e ¢ (WA F g A
¥ ) T @ (Rord st srqur) & w9 & demiriia
WET H FA B | DR 96 G5 B fw aew i
| B (T ST H ST | WG AT W A
Feortt At HET §6 gET A AT T A B

3. Part (a) is compulsory. Do any three out of parts (b), (c),
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(d) and (e).
AT (a) A 81 9T (b), ©), () T () F & FE &
Gadl

(a) Comment on the following statements: -

i aeml w T &t
(i) In the Keynesian model, an increase in Government
spending leads to an increase in both consumption

expenditure and savings.

FAITT Higw #, awr&mﬁqf;fﬁwﬂ?rm
T g9 <A A ghe Bk ¥
5
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